



Nimi: \_\_\_\_\_

Päivämäärä: \_\_\_\_\_ Pisteet: \_\_\_\_\_

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{3}{5} =$$

$$\left(-\frac{1}{4}\right)^{(-2)} + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{5}\right)^{(-2)} - \frac{3}{4} =$$

$$\left(-\frac{3}{4}\right)^{(-1)} + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{3}\right)^2 - \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \frac{3}{5} =$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{5}\right) - \frac{2}{5} =$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right)^{(-1)} - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{5}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^0 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right)^{(-1)} - \frac{1}{5} =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{6}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{3}\right)^{(-1)} + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{3}\right) - \frac{1}{2} =$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{4}\right)^{(-1)} + \left(-\frac{1}{5}\right) =$$



Nimi: \_\_\_\_\_

Päivämäärä: \_\_\_\_\_ Pisteet: \_\_\_\_\_

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{3}{5} = \frac{7}{5} = 1\frac{2}{5}$$

$$\left(-\frac{1}{4}\right)^{(-2)} + \left(-\frac{2}{5}\right) = \frac{78}{5} = 15\frac{3}{5}$$

$$\left(\frac{1}{5}\right)^{(-2)} - \frac{3}{4} = \frac{97}{4} = 24\frac{1}{4}$$

$$\left(-\frac{3}{4}\right)^{(-1)} + \left(-\frac{3}{4}\right) = \left(-\frac{25}{12}\right) = \left(-2\frac{1}{12}\right)$$

$$\left(\frac{1}{3}\right)^2 - \frac{3}{5} = \left(-\frac{22}{45}\right)$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \left(-\frac{2}{5}\right) = \frac{22}{5} = 4\frac{2}{5}$$

$$\left(\frac{1}{6}\right)^2 + \frac{3}{5} = \frac{113}{180}$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{5}\right) = \frac{14}{45}$$

$$\left(\frac{1}{5}\right) - \frac{2}{5} = \left(-\frac{1}{5}\right)$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{2}{5}\right) = \frac{19}{25}$$

$$\left(\frac{1}{2}\right)^{(-1)} - \left(-\frac{3}{5}\right) = \frac{13}{5} = 2\frac{3}{5}$$

$$\left(-\frac{3}{5}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{11}{10}\right) = \left(-1\frac{1}{10}\right)$$

$$\left(\frac{1}{2}\right)^0 - \left(-\frac{1}{2}\right) = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{1}{6}\right)^{(-1)} - \frac{1}{5} = \frac{29}{5} = 5\frac{4}{5}$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{3}{4}\right) = 1$$

$$\left(\frac{1}{6}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{1}{3}\right)$$

$$\left(-\frac{1}{3}\right)^{(-1)} + \left(-\frac{3}{4}\right) = \left(-\frac{15}{4}\right) = \left(-3\frac{3}{4}\right)$$

$$\left(-\frac{1}{3}\right) - \frac{1}{2} = \left(-\frac{5}{6}\right)$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{7}{16}\right)$$

$$\left(\frac{1}{4}\right)^{(-1)} + \left(-\frac{1}{5}\right) = \frac{19}{5} = 3\frac{4}{5}$$